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Arithmetic of Exponents (Negative Exponents)

(−8) − (−7) =(−1) (−7) − (−3) =(−2)

(−9) + (−8) =2 (−6) − (−4) =0

2 − (−9) =2 3 + 3 =2

1 + (−10) =2 (−6) + (−9) =(−2)

4 + (−9) =(−2) (−1) + 7 =2

5 + 1 =(−2) 4 − 10 =(−1)

4 + (−7) = 6 − (−6) =2

(−9) + 7 =(−2) 10 − 3 =2

5 − 5 =2 (−6) + 8 =

(−3) − (−1) =(−1) (−4) + (−5) =(−1)
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Arithmetic of Exponents (Negative Exponents)

(−8) − (−7) = = 6(−1)

8
55

8
7

(−7) − (−3) = = 3(−2)

49
148

49
1

(−9) + (−8) = 732 (−6) − (−4) = 50

2 − (−9) = 132 3 + 3 = 122

1 + (−10) = (−9)2 (−6) + (−9) = (− ) = (−8 )(−2)

36
323

36
35

4 + (−9) = (− ) = (−8 )(−2)

16
143

16
15

(−1) + 7 = 82

5 + 1 = = 1(−2)

25
26

25
1

4 − 10 = (− ) = (−9 )(−1)

4
39

4
3

4 + (−7) = (−3) 6 − (−6) = 422

(−9) + 7 = = 7(−2)

81
568

81
1

10 − 3 = 972

5 − 5 = 202 (−6) + 8 = 2

(−3) − (−1) =(−1)

3
2

(−4) + (−5) = (− ) = (−5 )(−1)

4
21

4
1
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